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1 ois Rl uRuaMi 215 A5 120 auid 4dls L Adl €Y dl 2.,
wael 2wl sedl ?

In one A.C. network current becomes zero 120 times in one second, then

what is the frequency of A.C. current ?
(A) 120 Hz

(B) 1 Hz

(C) 200 Hz

(D) 60 Hz

2 o Al B dgan A R desemidl daddl uas A.
(A)  -d
B) YA
(C) s
(D) e U 2s uel A
When A.C. bridge is balanced, current flowing through detector is A,
(A) infinity
(B) zero
©) 1

(D) None of these
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3 L-CR 80l uRuadi o L, C 241 R -l & 83124 423 GgMadl dlaRalasi-
aslad s Vi, Ve 2 Vi € dl 3L Ggolusil dlee

In an L-C-R series network, the voltage difference across the two terminals
of L, C & R are V] Vi & Vy, respectively, then the voltage of A.C. source

is

(A) VLHVR =V,

(B) VL - VR +Vc

(C) Vp+V+Vp

©) V2V, V)

4 A A, AR 2 e dUL AN AL AALESAL YEHL At UWL

Hlyal QuAY 69,
(A) -3+ (o

(B) A+ [y

(C) ANAd [

(D) e U 2s uel A

Generally, is used to measure unknown inductance in terms of

resistance & a standard fixed capacitor.
(A) Anderson's bridge

(B) Owen's bridge

(C) Maxwell's bridge

(D) none of these
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5 AdidR gUel uRuAUL vl Quid uRuYHL a6y
(A)  -d
B) L
(C) s
(D) e U 2s uel A

In parallel resonant circuit, at resonance the impedance of the circuit is

(A) infinity
(B) zero
(C) one

(D) none of these

6 % uRuaHl B3l 2uddaion nas YR <L 48 u¥ d
(A) ™A q-uel YRuy
(B) AR
(C) 2gll -l uRuy
D) [Bexr

The circuit in which currents of unwanted frequencies are not allowed to

pass is

(A) parallel resonant circuit
(B) acceptor

(C) series resonance circuit

(D) filter
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7 w83 (stiff) dlew Ggaly uiesl wrd

The condition for stiff voltage source is

(A) R, =001 Ry

(B) R, =000l R

(C) R,>001Ry

(D) R, <00l Ry

8 Ad~{l AR Ry 27t et QY Ryg A=Al 1L 2uifes eiy

The true mathematical relation between Thevenin resistance Ry & Norton's

resistance Ry is

(A) Ry <Ry

B) Rpp=Rqy

(©) Rog>Ry

(D) none of these
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9  yRuu-l Aq-l ey =
(A) e uRuy dle
B) dlasindg dlraas oo
(C) 6l 931 92 Hadl 4+ Ry dlee
(D) ol (dly) die
Thevenin voltage of a circuit equals

(A) Short-terminal voltage

(B) EMF of the battery
(C) Open circuit terminal voltage

(D) Load voltage

10 dleew [aonys ool Ryl ds1yEl
(A) G @R 28
(B) ol S S5 Ul
(C) HRl ARAHL
(D) e U 2s uel A
The disadvantage of voltage divider bias is that it has
(A) high stability factor
(B) low base current

(C) many resistors

(D) None of these
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11 JFET dleafl ¥ ad 8.
(A) 33
(B) U2
(C) 2
D) 223
A JFET is similar in operation to valve.
(A) diode
(B) pentode
(C) triode

(D) tetrode

12 % Ml 98 dl Vg 4 4t
(A) AW D
(B) a8 ®
C) w8
(D) e U 2s uel A
If the temperature increases, the value of Vg
(A) remains the same
(B) is increased

(C) is decreased

(D) None of these
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13 2$L-C-R A=l uRua ®2 V=100 volts, R=1Q,L=1H& C=7.04F,

dl 2 WRUAML Hedd Mals sed) ?

In a series L-C-R circuit, V=100 volts, R=1Q, L=1H & C=7.04 uF.

Then what will be the maximum current in the circuit ?

(A) 10A

(B) 100 A

(C) 10pA

(D) 10 mA

14 s L-C-R URuasi L 249 R A siR(l4i o3 € dal C a-ll A8 AHid™l 2#3a

®. % L=1 H,C=10uF,R=100Q = 3.3l. G&24 220V 50Hz i €y,

YRYAAL A6 HedH WA AR o = rad/sec.

In one L-C—R circuit L & R are connected in series and C is connected in

parallel with combination. If L=1 H,C=10uF,R=100Q & A.C. supply is

of 220V 50Hz Then the impedance is maximum for o = rad/sec.
(A) 316

(B) 300

(C) 157

(D) None of these

DF-2988 A | 8 [ Contd...



15 L=02H,R=10Q & C=10pF-u 2ell »iq-ugl uRua+ 200V, 50Hz-

il GealH AL A3 B, dl WRuAL ol

In a series resonant circuit L=0.2 H, R=10Q & C=10uF are connected

with A.C. supply of 200V, 50Hz. The impedance of circuit

(A) 326 Q

(B) 390 O

(C) 380 O

(D) 255 Q

16  C=12.5pF <l 3uf4er-) 60 Hz gt 112 gy

The capacitive reactance of C=12.5uF with f = 60 Hz is

(A) 4.71mQ

(B) 121Q

(C) 212Q

(D) 4650Q
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17 s 9sq9dd Bl AB vudl 45Q <L 294 2isid 381 Ly 08 s,
BC il 2900 «l 2144, CD weiMl 0.8 pF«ll 3Ufe: 4 580Q-ll

LAY ALY AHIARML, AD Wil 90 QL 2AAY AR B w41 D 422, {252
A B dal A 3l C 92 AL G BRe 8, dl (Mo Agad avid L, _

In a Maxwell bridge a resistance of 452 is connected in series with unknown

inductance L; in branch AB, resistance 290€2 is connected in branch BC,
in branch CD there is a parallel combination of capacitor & resistance of

values 0.8 uF & 580Q2 respectively. In branch AD there is resistance of

90Q2 and a detector is connected between B & D. Also A.C. voltage source
is connected between A & C. Find L; when bridge is balanced.

(A) 21 mH
(B) 12 mH
(C) 11 mH

D) 12 H

18 uldl YRuA Hi2 Vg 2l Ry Hienil 3&dl 2l

For given circuit find Vi & Ry .

(A) 24V,533kQ
(B) 12V,533kQ
(C) 24V,6kQ

(D) None of these
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19

20

CE 2loRex uluami sdser slatls uglt ad snuRisl 2udld uRAlax Big

N

2V, ImA) 9934 8. % B=100 & Vg =0.7V dl Ry=

By using biasing with collector feedback method, a transistor in CE

configuration the operating point is set at (2V, 1mA). If =100 and

(A) 130Q
(B) 13000
(C) 130kQ

(D) 13kQ

»s CE VDB ulRua Ge 2l~arex-{l Heedl o-uda . o

0 =0.985 Voo =16V, R, =20kQ, Ry =2kQ 4 ulRAlad [ig

(2V,1mA) € dl R, U3 3udl dleey gudl.

In CE germanium transistor VDB circuit, o =0.985, V.. =16V,
R, =20kQ, Rj; = 2kQ and operating point is (2V,1mA). Give the value

of Voltage across R, .

(A) 43V
B) 4V
C) 117V

(D) None of these
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21

22

JFET =l Ingg =12 mA, Vg = -4V and Vgop = -5Vell I =
JFET has Ipygg =12 mA, Vg =4V & Vg0 = -5V then Iy =
(A) 048 mA

(B) 0.24 mA

(©) 17 mA

(D) None of these

yats AR sy JFET ulRua e Vpp = 10V, Vg =5V,

Rp = 1kQ, R =IMQ, V=07V & Ry = 2kQ, 36 dlew =

In a current source bias JFET circuit, Vpp = 10V, Vg =5V,

Rp = 1kQ, Rg =IMQ, Vpp=0.7V & Ry = 2kQ, then the drain voltage

is

(A) 43V
(B) 7.85V
€ 15V

(D) 5V
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23

24

s JFET IR I =35mA, Vp=12V & g_,=5100pS €4, dl Viq=—6V

we Iy &g <l yeil

A JFET has Ipgq =35mA, Vp=12V & g ,=5100uS . For V5q=—6V the

values of Iy &g are
(A) 8.75mA, 255uS
(B) 8.75mA, 25508

(C) 7.5mA, 2558

(D) None of these

w5 (B uRua ABCD {13 4ol ot-1dd €. Big»l A 21 B, B 211 C, C 211
D, A 1 D didl B ¥+ D 923 +sd 10Q , 30Q, 15Q,
20 Q, 3 40 Q, <UL AAY Al 8, Bigdl A 19 C 422 219219y idRs
24 4auddl 2 V ol Ll dedl ol 8. il uRuA W2 Vi Ry dal BD
enHigl addl wae

A bridge network ABCD is arranged as follows: Resistance between
terminals A& B, B& C,C& D, D & Aand B & D are 10 Q, 30 Q, 15
Q,20 Q, & 40 Q,, respectively. A 2 V d.c battery of negligible internal

resistance 1s connected between terminals A & C. For this circuit the

values of Vypp Ry & current through BD branch are

(A) 15V, 18Q, 20A
(B) 086V, 1660, 11.5A

(C) 0645V, 16Q, 11.5mA

(D) None of these
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25

26

s QU [ WRud ABCD {12 46 6i+1da €. AB 1ML 200Q, «ll AdR1Y
A 1pF A 3ufedd d4idR 3L, BC il 400Q «ll 24414, DC il

1000 Q2 <l Y, 2L AD ¥l RQ <l 2444 A1d 2 puF <L 3uldexd siell

318l 4 €. [blg At C a3 ¥ L6123l aal big B & D a2 {252 e
8. 2L (B uRua Aga- Ad AR R 29 vigdl Y&l gk,

The four arms of Wien's bridge ABCD are made up by following data

values:

AB branch have 200 Q resistance in parallel with 1 uF capacitor, BC branch
has 400Q resistance, CD branch has 1000 ¢y resistance, AD branch has a

resistance R in series with a 2 uF capacitor. An A.C. source is connected

between point A & C and detector is connected between point B & D. Find
the value of R & frequency when bridge is balanced.

(A) 400 Q & 796 Hz
(B) 200 Q& 960 Hz
(C) 100 Q& 796 Hz

(D) 100 Q& 96 Hz

LCR 2e(l ulRua- 400 cos (3000 t — 10°)V «ll dlee suyatl wRuaHi asdl

wale 1042 cos (3000 t — 559)A ®. % L = 0.01H dl R 213 Cii 3l 32ai?
In a series LCR circuit, when a voltage of 400 cos (3000 t — 10°)V is

applied, the current flowing is 10+/2 cos (3000 t —55°) ampere. If L = 0.01H
then what are the values of R & C ?

(A) 30Q,3.33uF
(B) 28Q, 3.33pF
(C) 20Q,33.3uF

(D) 30Q,333uF
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27

28

215 VDB CE (Si) 2o wRuadl Vi =15V, R =10kQ, R, =2.2kQ,

R, =1kQ, Vg =07V, R =36kQ a4 By =200, dl

>

In VDB CE (8i) transistor circuit, Vo =15V, R{=10kQ, R, =2.2kQ,

Ry =1kQ, V=07V, R=3.6kQ & By, =200. Then
Vep=_ & Iz-

(A) 11.07V,1A

(B) 5.8V,2mA

(C) 11.07V,2mA

(D) 11.07V,2A

21558 (stiff) VDB ot Ul il 2l Y&l Vo =10V, Vi =
weyiy I =1mA -+ By =70 4l 200 Vgp= 0.7Vl eedl :

R=_ = Ry=_ = &Rg=

2

Using stiff VDB design guidelines & given data values: V=10V, Vpis
at mid point, I =1 mA & B4, =70 to 200, Vg = 0.7V the values of

R, = Ry="_ = & Rg=

(A) 13.670,2800,100Q
(B) 13.67k Q,2.8k Q, 1kQ

(C) 13.67k Q, 280 Q, 1kQ

(D) 3420,2000,150Q
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